D:175(1+0) 47.000€

D:171(1+0) 55.000 RS

D:51(1+0) 46.000€

D:20(1+0) 45.000 RS
D:18(1+0) 45.000 RS

D:5 (1+1) 67.000€

ASANSOR

ASANSOR

ASANSOR

ASANSOR

ASANSOR

ASANSOR

ASANSOR

ASANSOR

D:123(1+0) 44.000 RS

D:95(1+0) 48.000€




- > X

- > X B 44> X N | 4> X w | 4> X S| 4> R v | 4> X o 4 P> X ~N

2 -2 mN

=

B block
D:227 (1+0)

ASANSOR

ASANSOR

ASANSOR

ASANSOR

ASANSOR

D:130 (1+0) 46.500 RS

ASANSOR

ASANSOR

ASANSOR

D:5 (1+1) 67.000€

D:155 (1+0) 53.000 RS

D:94 (1+0) 50.000 RS

D:58 (1+1) 68.000€



